
Nr Art.nr  Benämning     Antal 
1 74570045 Handtag/Kropp 1 
2 74350728 Hylsa   1 
3 74470092 Avtryckare Manuell 1 
3 74470093 Avtryckare Automat 1 
4 74003463 O-ring   1 
5 74003404  O-ring   1 

6 74350297  Avtryckarfjäder 1 
7 74000536 Låsstift  1 
8 74003464 O-ring    1 
9 740031539 Anslutning   1  
10 74470084 Matarrör 8mm 1 
11 74003412 O-ring   1 
12 74003507 Släpring  1 
13 74003508 Släpring  1 
14 74470082 Kolv   1  
15 74350299 Bricka   1  
16 74003465 O-ring    1 
17 74470083 Utstötare   3 
18 74350292 Bussning  1  
19 74350733 Distansring Manuell 1 
19 74350734 Distansring Automat 1 
20 74470088 Pistolhuvud 8mm 1 
21 74350294 Låsmutter  1  
22 74470180 Käftblad   3 
23 74350295 Spärrblad   3 
24 74417280 Nosring  1 
25 74350298 Tryckfjäder  1 
 
 75200000 OKU AS8 Dubbpistol 
 75200001 OKU AS9 Dubbpistol 
 

Nr Art.nr  Benämning     Antal 
8 74000613 Ögleskruv  1 
9 74000627 Mutter M6  1 
10 74350670 Inre tryckfjäder 1 
11 74350669 Yttre tryckfjäder 1 
12 74250052 Kolvstång 8mm 1 
12 74250051 Kolvstång 9mm 1 
13 74350671 Matarrör 8mm 1  
13 74350711 Matarrör 9mm 1  
14 74350666 Stoppring  1  
15 74000796 Seegring  1 
16 74004709 Låsskruv  1  
17 74470185 Mellanstycke  1 
18 74350922 Ringmutter  1 
19 74003466 O-ring   1 
20 74470649 Spärrblad Enkelfläns 1 
20 74470651 Spärrblad Flerfläns 1 

21 74417280 Nosring  1 
22 74000582 Rörstift  1  
23 74485167 Käftblad  3 
24 74353730 Styrblad  3 
25 74350668 Låsring  1  
26 74470214 Pistolhuvud 8mm 1 
26 74470215 Pistolhuvud 9mm 1 
27 74004100  insexskruv  2 
28 74470092 Avtryckare Manuell 1 
28 74470093 Avtryckare Automat 1 
29 74000536 Låsstift  1 
30 74003464 O-ring   1 
31 74003404 O-ring   1 
32 74350728 Hylsa   1 
 
 75200005 OKU EP8 Dubbpistol 
 75200006 OKU EP9 Dubbpistol 

OKU AS 8 

OKU EP 8/9 

Nr Art.nr  Benämning     Antal 
1 74031539 Anslutning Manuell 1 
1 74031547 Anslutning Automat 1 
2 74003463 O-ring   1 
3 74350297 Avtryckarfjäder 1 
4 74004082 Mutter M8  1 
5 74470944 Handtag/Kropp 1 

6 74350667 Kolv   1 
7 74003507 Släpring  1 

BOAB HJULDELAR AB 
0530-133 33  
info@boabhjuldelar.se 



Nr Art.nr  Benämning     Antal 
1 74031539 Anslutning   1 
2 74003463 O-ring   1 
3 74350297 Avtryckarfjäder 1 
4 74004082 Mutter M8  1 
5 74479212 Handtag/Kropp 1 
6 74350664 Kolv   1 

7 74003507 Släpring  1 
8 74377388 Inre tryckfjäder 1 
9 74377389 Yttre tryckfjäder 1 
10 74253657 Kolvstång 6,5mm 1  
10 74254213 Kolvstång 8mm 1 
11 74383682 Matarrör 6,5mm  1 
11 74350671 Matarrör 8mm 1 
12 74350666 Stoppring  1  
13 74000796 Seegring  1 
14 74004796 Låsskruv 6,5mm  1 
14 74004709 Låsskruv 8mm  1 
15 74479210 Mellanstycke 6,5mm 1 
15 74479817 Mellanstycke 8mm 1 
16 74383681 Ringmutter  1 
17 74383680 Spärrblad 6,5mm 1 
17 74403458 Spärrblad 8mm 1 
18 74021420 O-ring   1 
19 74022238 Rörstift  1 
20 74371402 Käftblad  3  
21 74383679 Låsring  1  
22 74479211 Pistolhuvud 6,5mm 1  
22 74479818 Pistolhuvud 8mm 1  
23 74004100 Insexskruv  2 
24 74470092 Avtryckare Manuell 1 
 

Nr Art.nr  Benämning     Antal 
1 74031539 Anslutning   1 
2 74003463 O-ring   1 
3 74350297 Avtryckarfjäder 1 
4 74350728 Hylsa   1 
5 74470942 Handtag/Kropp 1 
6 74350664 Kolv   1 
7 74003507 Släpring  1  
8 74004082 Mutter M8  1 
9 74000613 Ögleskruv  1 
10 74000627 Mutter M6  1 
11 74350670 Inre tryckfjäder 1 
12 74350669 Yttre tryckfjäder 1 
13 74350659 Matarrör 12mm 1  
14 74350666 Stoppring  1 
15 74000796 Seegring  1 
16 74004099 Insexskruv  2 

17 74470092 Avtryckare   1 
18 74000536 Låsstift  1 
19 74003464 O-ring    1 
20 74003404 O-ring   1 
21 74470238 Mellanstycke   1 
22 74250053 Kolvstång 12mm 1 
23 74350710 Muff   1 
24 74000300 Låsskruv  1  
25 74470221 Pistolhuvud 12mm 1  
26 74350991 Spärrklaff  1  
27 74403148 Spärrstift 12mm 1 
28 74350665 Tryckfjäder  1 
29 74350806 Cylinderpinne  1 
30 74004083 Rörstift  1 
31 74003467 O-ring   1 
32 74353731 Styrblad  3 

OKU EPK 6,5/8 

OKU EP 12 

Nr Art.nr  Benämning     Antal 
33 74350923 Ringmutter  1 
34 74470946 Käftblad  3 
 
 75200007 OKU EP12 Dubbpistol 

Nr Art.nr  Benämning     Antal 
24 74470093 Avtryckare Automat 1 
25 74000536 Låsstift  1 
26 74003464 O-ring   1 
27 74003404 O-ring   1 
28 74350728 Hylsa   1 
 

 75200003 OKU EPK6,5 Dubbpistol 
 75200004 OKU EPK8 Dubbpistol 

BOAB HJULDELAR AB 
0530-133 33  
info@boabhjuldelar.se 


